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Answer the following questions

Question 1
For the given figure, draw the following views:-
1 — Elevation (Looking in the directici: 3f arrow R).
2 — Side view.

3 —Plan.
i
~
Question 2

1- Redraw in scale 1:1, the given elevation and plan.
2- Side view (Looking in the direction of arrow S).
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Beni Suef University
Industrial Education College
Chemistry. First year (2008-2009)

Answer the following

1) Write the electronic configuration of the following

Se (Z=21) S (Z=16) Cr (Z=24) AP (Z=13)

F7 (Z=9)

2) Write an account on the following

Electron affinity Coerdinate covalent bond Octane number
Diamagnetic substances Law of mass action

3)a) Give reasons for the following

i- Cu”' is coloured (Z=29)

2- d subshell contains 10 electrons

3- Electronegativity of fluorine is higher than chlorine

b) Calculate the oxidation number of the atoms above the line

NOY HNO,

4) a) Derive Ostwald law of dilution K,=0"C

b) Calculate the percent ionization of 1.00 M solution of hydrocyanic acid
HCN  knowing that K, of HCN is 4.8 x10™

¢) Find the pH of 0.003 N HCI

5) a) Give the IUPAC name of the following compound
CH;-CH, -CH =CH,
b) Compare between physical and chemical adsorption
¢) Electron in the subshell 3d” what is the possible values of n, m, ! and m,
d) Consider atoms with the following electronic configuration
1s? 28* 2p°
1s? 28* 2p°3s’
18? 287 2p°3§°

Which atom has the largest first ionization energy, and which one has
The smallest second energy. Explain your choices.

Good huck



Bani-suif University first year second term exam.
Basic Science Department May 2008 Basic Mathematics 2

Time allowed 3 hours

Answer all the following questions:

[.Use Cramer's rule to solve the following system of equations:
2x +y—2 =235

-3

3x - 2y+ 2z
x -3y-3z=-2

2.For the matrices

402 -1 5 2 3 3 -6
A=l3 -1 -1| ,B=|-2 ,c=[ } andD={ ]
1 -7 -1 3

11 -1 0

L. find (4" B)and Prove that (cp)y' =p'c™

dx
R II. }cosec udu
I Jx? +16 I
1. [ (sinx+cos x)x Iv. | dx
o xlnx

4.1) Express -1+ J)in the form r{cos@ +siné Yand evaluate 1+ i
11\
II)Use De Moiver's theorem to evaluate (— 5 + 5]}

5.1) Find the center, the vertex ,the foci, the crizing axis ,the domain ,the rang, the equation
of the tow asymptotic lines and the conjugate af ihe hyperbola 4y —5x* -20=0.

[I) )Find the center, the vertex ,the foci, the lengi, of major axis, the length of minor axis,
and the length of latus rectum of the ellipse 4x° 49,7 ~32x—36y+64=0
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